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Number of reflections

Number of reflections

Number of reflections

RFAO1W RFAO1IW1 RFAO1W?2 RFAO1IW3
Mean reflects =7.96525 Mean reflects =8.55625 Mean reflects =8.54508 Mean reflects =8.66483
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RFAO2W1 RFAO2W?2 RFAO2W3 RFAO2W4
Mean reflects =9.03175 Mean reflects =9.12702 Mean reflects =9.11113 Mean reflects =9.12973
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RFAO02W5 RFAO02W6 RFAQO2W RFA12W1
Mean reflects =9.18218 Mean reflects =9.18881 Mean reflects =9.6238 Mean reflects =1.99747
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RFA12W?2 RFA14W1 RFA14W?2 RFA14W3
Mean reflects =1.54595 Mean reflects =4.50959 Mean reflects =4.71823 Mean reflects =4.86396
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RFA14W4 RFA15W1 SP15W2 RFA48W1
Mean reflects =5.52515 Mean reflects =2.74669 Mean reflects =3.06586 Mean reflects =7.99227
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RFA49W1 RFA49W?2 RFA49W3 RFA49W4
Mean reflects =9.62306 Mean reflects =9.75852 Mean reflects =10.1838 Mean reflects =10.8425
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RFA49E?2 RFA49E1 RFA15E SP15E2
Mean reflects =11.0722 Mean reflects =10.8868 Mean reflects =5.63253 Mean reflects =3.70065
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Number of reflections Number of reflections Number of reflections Number of reflections
RFA14E2 RFA14E1 RFAQO2E
Mean reflects =7.41079 Mean reflects =7.87308 Mean reflects =5.53035
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